FEFl LHBRFERMLIREENE

RIEME (1 Sv. h)

BEMEIE (1 Sv. h)

BIEHh = HEH

MEEAR WEWH AESF  BEKE KR | #Eim sEsom s |00 M 0 B2I0
1 EERHOK Bk 2016/6/22  14:10 KGR | FRI7ILE 2 0.05 0.05 0.07 0.03 0.02 0.05
2 FRUEK Bkt 2016/6/22 14:45 KA N = 0.03 0.03 0.03 0.03 0.03 0.02
3 BhEDFEK Bk 2016/6/22 9:35 JKIZHT XARE = 0.05 0.06 0.06 0.04 0.04 0.05
4 FOELDR Bk 2016/6/22 9:50 KiZal | FRI7ILE £ 0.04 0.05 0.06 0.04 0.05 0.05
5 ESHLDR Bk 2016/6/22  10:10 JKIZHT T T 0.03 0.03 0.04 0.03 0.02 0.03
6 EMDR Bkt 2016/6/22 10:35 KGRI  FRI7ILE 2 0.05 0.05 0.05 0.04 0.04 0.03
7 I B K Bk 2016/6/22  10:30 JKIZHT T T 0.03 0.03 0.03 0.03 0.03 0.04
8 =EEIEK Bk 2016/6/22 11:00 Kigal | FRI7ILE g 0.03 0.04 0.04 0.03 0.03 0.03
9 BEOR Bk 2016/6/22  12:10 KiBET | arsU—k 2 0.03 0.03 0.03 0.02 0.03 0.02
10 BHOR Bkt 2016/6/22 11:30 KEFT  avy)—k g 0.03 0.03 0.03 0.03 0.02 0.02
1 T&AmI=EE Bkt 2016/6/22 15:25 & /KA * g 0.03 0.04 0.05 0.02 0.02 0.03
12 <FIROR kg0l 2016/6/22 15:40 BAE:L] + £ 0.02 0.02 0.02 0.02 0.02 0.03
13 1RKFE ZDith 2016/6/22  13:40 BE Ll = 0.04 0.03 0.03 0.03 0.03 0.02




